## Water aster's Proposed Budget

FOR 2,000

Water District No.	STR			
	Zeynolds (	Creek		
Name of Watermaster	Connie	M. Brando	રવ	
Post Office Address	NC 79	Box 61	Melba, Idaho	83441
Name of Secretary	Jerry	Hoaq land		
Post Office Address	NC 79	Box 44	Melba, Jolah	0 83441

## SECTION 42-615, IDAHO CODE

PROPOSED BUDGET FOR SUCCEEDING YEAR. Each watermaster shall, at least thirty (30) days prior to the annual meeting of the water users of the water district, also prepare and file with the department of water resources a proposed budget for the succeeding year, together with a distribution of the amount of said budget to the respective water users, using the actual deliveries for the past irrigation season or seasons, as the basis for said distribution as hereinabove provided, which said proposed budget and distribution shall be submitted to the water users for consideration and approval at the next annual meeting.

In conformity with the above statute, I hereby submit a Proposed Budget for the season of 2000

Cornie M. Branclan

(This report must be made in duplicate, one copy to be forwarded to the appropriate regional office of the Idaho Department of Water Resources, and one copy to the Secretary of the last Annual Water User's Meeting of your District.)

```
File: DIST 57R RT USE
Report: 1999 57R RIGHTS
                                                                PROPOSED BUDGET 578
CURRENT OWNER
                  RT #
  were which drive larger pages hable threat strain larger track to the topic while opens, again,
AGENBROAD LATERAL 57-2094F
BENSON, JERRY 57-0272
BOSTON, BILL
                  57-2026-1033
HENDERSON, MIKE
                 57-0007
BRANDAU, HENRY 57-0279-2052-2094J
BRANDAU, RICHARD 57-0280-2065
EARLL, GEORGE 57-2094L
FOOTE, E.G.
                  57-0277-2094D
FRIBIE, ED
                  57-2094A
GOERING, WINSTON 57-0274
HALL, DAN
                  57-2067B-1003
HEART DIAMOND
                  57-2094H
HOOK, TOM WEST RE 57-0271-2041
HOOK, TOM LAST DI 57-0276
HOOK, TOM-UPPER
                  57-0245B-0260B-0269B-0265-1106-1107-1108-1109-1111-1113
JACA, ELIAS
                  57-0246-0267-1023-1021-1022
JACA, ELIAS WEST
                 57-1118
JESENKO, PAUL
                  57-2006C-1002-2062
JOHNSTON, CALVIN 57-0273
JUNAYO RANCH-LOWE 57-0248-0252-0249-1070-1073-1074-2296-2325-7040
JUNAYO RANCH-MACK 57-0262-2085
JUNAYO RANCH-UPPE 57-0250-0251-1075
LEWIS. BLENDA
                  57-2094E
                  57-0254A-0255A
MCCABE, JIM
MCKEE-BENSON, JAC 57-2165-2192
MCMAHAN, GERTRUDE 57-2007B
MULLER, DAN
                  57-0278
MULLER, JERRY
                  57-0005-1032
PITMAN, SAM
                  57-2007C-2006A-2006B-2094C
ROMERO, JOHN-DOWN 57-0243-0259-1078-1079-1080
ROMERO, JOHN-UP
                  57-0257-0258-1095-1096-1097-1098-1099
SEVEN HIGH-BABBIN 57-0253-0261-0268-1063-1064-1065-1067-02187
SEVEN HIGH-DOBSON 57-0247-1087
SEVEN HIGH-HOME 57-0244-0245A-0260A-2069A-0266-1086-1088-1085
SEVEN HIGH-JERRY 57-0254B-0255B-0256-1066
SEVEN HIGH-LOWER
                  57-2094G
TINCHER, BILL
                  57-2093B
TYSON, CHARLES
                  57-2067A
YOUNG, LAVAR
                  57-0006-0281-1117
YOUNG, LAVAR LAST 57-0275
YOUNG, LAVAR/GIVE 57-2000-2094B
YOUNG, LAVAR/KEIT 57-2007A
```

Page 1

File: DIST 57R RT USE Report: 1999 57R RIGHTS CURRENT OWNER AGENBROAD LATERAL USERS	97 CFS-	98 CF	99 CF	Page 1 3 YR AVE CFS USE 3YR AV USE
AGENBROAD LATERAL USERS	when sometial appears, supplies supplies abstract to their contract to the con	1999 1994 Julie Tenné séren sense sense	bahibi habita keppo bilaha onabil senjer suwa.	Velocity shifted delitric scorer states statute special statute whenty windy
BENSON, JERRY				9.80
BOSTON, BILL				
HENDERSON, MIKE BRANDAU, HENRY BRANDAU, RICHARD EARLL, GEORGE	11.01	8.78	.30	6.70
BRANDAU, HENRY	13.54	14.33	.30	9.39
BRANDAU, RICHARD	16.91	11.54	1.98	10.14
POOTE P. C.				
T CACA I Proc. Proc. CT c				
FRIBIE, ED GOERING, WINSTON HALL, DAN	0 40	0.00		- خير پهنديد غ
HALL, DAN	Z.4U	2.89		1.76
Figure of the property of the second of the				
HEART DIAMOND HOOK, TOM WEST REYNOLDS HOOK, TOM LAST DITCH HOOK, TOM-UPPER JACA, ELIAS JACA, ELIAS WEST REYNOLDS JESENKO, PAUL	11 10	2 24		4 00
HOOK, TOM LAST DITCH	1 30	2 20		4.83 1.33
HOOK, TOM-UPPER	1.00	4 60	1 91	4.59
JACA, ELIAS	6 84	1 1 1 1	4.04	4.22
JACA. ELIAS WEST REYNOLDS	32	T + T -X	7.01	.11
JESENKO, PAUL	1.05			* * *
JOHNSTON, CALVIN	and a strength	4.91		.35 1.64 10.82
JACA, ELIAS WEST REYNOLDS JESENKO, PAUL JOHNSTON, CALVIN JUNAYO RANCH-LOWER	20.15	8.94	3.38	10.82
JONATO KANCH-MACKS CKK				``
JUNAYO RANCH-UPPER	8.17	4.88	1.57	4.87
DEMIN (OF DERINDA				
MCCABE, JIM	. 39	.22		.20
MCKEE-BENSON, JACKIE				
MCMAHAN, GERTRUDE MULLER, DAN MULLER, JERRY PITMAN, SAM ROMERO, JOHN-DOWN	3.00 4.73			1.00
MULLER, DAN	4.73	4.20	. 40	3.11
MULLER, JERRY	15.41	17.55	1.80	11,59
FITMAN, SAM	3.72	mana site.		1.24
ROMERO, JOHN-DOWN ROMERO, JOHN-UP	14.08	7.84		7.31
ROMERO, JOHN-UP SEVEN HIGH-BABBINGTON	7.00	4.50		3.83
SEVEN HIGH-DOBSON	1U.11	7.84 4.50 5.99		5.37
SEVEN HIGH-HOME	. 40 6 00	.40	1.20	.31
SEVEN HIGH-JERRY	6.03 5.46	2.47 3.00	3.62	3.23
SEVEN HIGH-LOWER	0.40	3.00	0.02	4.03
TINCHER, BILL				
TYSON, CHARLES				
YOUNG, LAVAR	18.67	20.61	2.00	13.76
YOUNG, LAVAR LAST DITCH	6.54	7.40		4.65
YOUNG, LAVAR/GIVENS	3.32	1.66		1.66
YOUNG, LAVAR/KEITH	1.60	.60		.73
	212.70*	158.59*	26.40*	132.56*

## WATER MASTER PAST ACTUAL EXPENSES AND PROPOSED BUDGET

YEAR	DAYS	SALARY	TOTAL	OTHR EXP	TOTAL COST	COST PER CFS
1999	6	50.00	300.00	72.70	372.70	14.1174242
1998	23	50.00	1150.00	150.73	1300.73	8.201841225
1997	27	50.00	1350.00	351.03	1597.75	7.997320
1996	12	50.00	600.00	169.40	769.40	1.9038428
1995	30	50 DA	1500.00	251.35	1751.35	2.80292
1994	36	50 DA	1800.00	405.01	2205.01	1.7092438
1993	32	50 DA	1600.00	279.22	1524.04	1.2330516
1992	26	50 DA	1300.00	366.53	1666.53	2.3957132
1991	69	50 DA	3450.00	506.18	3956.18	1.8401265

NEXT YEAR:

2000 40 50 DA 2000.00 1000.00 3000.00